EARAROBREBRT —5 XN—ZXBISH—F

20224612858 (A) 190&EE1H

I > )L/\T 455!

B2 Y>R—fix

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1500 =

[AE%] 1 7% :500,000 9 . 27&:165,000 )  337%&:100,000 W  437&:65,000H . 53&:45,000 H

B RS RS M MHE BF (F8) |94L (BF) | @Bl | E3F |SiEH | AR | #E | A6 (R / B / £EWS
. . P SHEX : -2-2- - S2Er (BHE)
N NEEaIzrs T 4| oHE 1.(3_7).2 2-2-2-2 | 39.0 1 (5_310) eyl
RiYUAI ISR B:AROVF BE BX
. # 5 | LLER 1:37.3 7-6-6-6 [38.3| — | 7 | 48 |TFX (BEE)
7 H 9 | PE—F 54.0 (/4) (5 |EAB
R:O—IVJUY BEFZT4—Y Hp &HX
»~ =] & N =1=1- - B
3B 3| TLATRRY # o2 | s 1:37.3 1-1-1-1 1392 2 | @ %;;LA (BHEE)
— o (NF) N | B2
R:ZTV—F4 B:FIRZVT7 BEXFHE
— - . 33 - BrB—A (BB
4l7] 8| 7RSI AR—A AR B2 3333 |93 ! ?_576) s
RiFvyvd/Ftd B:7VI—IF4N PR
. DR — : - SEEr (BEE
5|gl10| 7—77U5— 1 # 5 24%5 1.(327).9 4-4-4-5 | 39.4 3 48)9 ;};ga ( )
Ri=5—YyF B:FFINAIAI IYDS5T7—1h
: FITI5ENE 3 -5-5- - lE— (BEE)
6 6| AL AR 7 | B3 1(.13/82.)0 5-5-5-4 | 39.2 6 (4_1?3) e
RIIRRI—ILYF— 8:ERAY AKX B
oA, — =T :38. -8-7- 9 - BrlB—% (@HB)
7177 | EvYRIL=F o4 $52.0 ! (333 ! AN ° (4_550) Bien
RIAEWN=T B:EvvRAI FERS W R
glsl5| V1 /IRD—R # 5 ?E%%: 1:39.3 8-8-9-8 [39.0| — | 8 | 512 gmgf (BEE)
22T 5 @ @)
R:FPIRAFIIN Bik—hk RS- T
s IREE : -7-8- - EEFR (2EB)
91! Nva= o4 | BEe 1.(329).7 6-7-8-9 |39.7 10 (4_2;) ez
RN—ANR BYISAATY IR LIRS
33 \" £ 5 | HMIEEFAE 1:40.5 10-10-10-10| 39.4 | — 9 429 |ARET RER)
EH 7| o= 72| %0 @ © | @ Jr—2kevay
RiFRXF B:O—FT4—34Y [EIEE40%
@ J1—JF—@BIRAI
13—7— |3,4,8,10,6,1,9,5,7,2
20—F— |3.4,8,10,6,9,1,(5,7),2
3J0—7— |[3.,4,8,10,6,9,7,1,5,2
43—7— |3,4,8,6,10,9,7,5,1,2
@ ILRE
& s 4 210 | | DA R 4-9 1,350 | | # &= 4-8 4503 | | =8 3-4-9 3,330M
& B 4 100F4 3-4 1603 | | &5 = 4-9 5,990/ | | & 4-9-3 24,740M
9 350M 3-9 1,400 | | &5 & 4-9 7.280M
3 1204

ABIC OV TRUTEREERRODDZE. THRIIZEL.




